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Addition of three or more numbers  

Grade 1 Word Problems Worksheet 
 
 

Shelby Cooper and his family are going to Japan for 

a vacation.  

 

1. Shelby must pack his own luggage for the 

vacation. In his luggage, he puts 8 pants, 10 t-

shirts and 7 pairs of underwear. How many items 

of clothing are in his luggage? 

 

 

 

2.  It took them 2 hours to drive to the airport. The 

flight duration to Japan was 13 hours and 

traveling from the airport to their rental house 

took 2 hours by bus. How long did it take for the 

Cooper family to travel from home to their rental 

house in Japan? 

 

 

 

3.  On the first day of their vacation, they went to 

the park to see the cherry blossoms. Shelby saw 8 

dogs, 9 cats and 4 rabbits. How many 

animals did Shelby see at the park?  
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4. Shelby was amazed by the fish at the aquarium. 

There were 9 clownfish, 7 lionfish, 5 damselfish 

and 2 parrot fish. How many fish were there at 

the aquarium? 

 

 

 

 

 

5. They visited an apple orchard nearby. His father 

almost filled 3 small baskets with apples, and 

each basket could hold 15 apples when full. He 

filled the first two baskets, and the last one 

contained only 7 apples. How many apples did 

Shelby’s father pick altogether? 

 

 

 

 

 

6. Write an addition equation for this sentence: “The 

souvenirs Shelby bought included: a stuffed toy 

worth $5, character figurines for $10, a cap for $3 

and a shirt for $8. He paid a total of $26 for the 

souvenirs.” 
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Answers 
 

1.  8 + 10 + 7 = 25 
There are 25 pieces of clothing in his luggage.  

 
2.  2 + 13 + 2 = 17 

They travelled for 17 hours. 
 
3.  8 + 9 + 4 = 21 

There were 21 animals at the park. 
 
4.  9 + 7 + 5 + 2 = 23 

There were 23 fish in the aquarium. 
 
5.  15 + 15 + 7 = 37 

His father harvested 37 apples. 
 
6.  5 + 10 + 3 + 8 = 26 
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